H & 0l & AHS B Ml A

248 200 Letel 5 g IS
SA ST OIS
. THESA 243t
Selr ANFSAH Z0 245 T3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S8 6EIEL 39,969,483 38,484,521 1,484,962
= 14,701,760
[ 556,500
Jl 5,779,374
< 8,869,460
Al 10,563,389
A2 SAH 2435t 33,860 37,160 23,300
AESAH B0 243t X3 33,860 37,160 A3,300
AESAES K2 33,360 36,660 23,300
201 fet=23y| 2,700 3,000 A300
01 AtR2te|HI 2,700 3,000 A300
OXESAHE S X 2,700
206 M=l 5,000 5,000
01 MHZHI 5,000 5,000
oNnzsAEs NE 23 5,000
301 EtE NS 25,660 28,660 23,000
14 IIEt2 83 25,660 28,660 A3,000
OXNAESA 252 3,600
OZ=Y 024 dL3AI B0 2324 800
OAZISTAE SAHES Z0A 2524 9,600
OO0t =L SAU SSSA S0
g2y 7,680
OXNASALNR IS BAA 24 980
OF e M2NESAHLT 2852 1,200
OAZ=AMZ NHSAHA &S24 600
ottsel IESAHL 2524 1,200
XS 2 500 500 0
201 er23 | 500 500
2 35234l 500 500
OISt 2 500
oy - ols=sA Sd 37,656,649 36,138,898 1,617,751
= 14,298,110
[ 55,500
Jl 5,779,374
s 8,504,092
Al 9,019,573
IIEEERXE 7,581,997 6,932,851 649,146
7l 5,526,249
= 888,839
Al 1,166,909
NAS sR20HE dEE K2 659,800 628,231 31,569
s 197,940
Al 461,860




2A:

S8 HdotED

M o4 - ots=EX B
el ISR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 659,800 628,231 31,569
= 197,940
Al 461,860
02 ARSI 2 XSG (FHAAHS, NLWE) 659,800 0 659,800
OMAS s220tE MExte X 659,800
= 197,940
Al 461,860
AEEER2 TUEAE 55,319 53,444 1,875
Jl 44,255
= 5,532
Al 5,532
301 EetE2 NS 55,319 53,444 1,875
Il 44,255
= 5,532
Al 5,532
01 Al EE AT Z(2RDEXR) 55,319 53,444 1,875
OFAESRR XEAH 55,319
) 44,255
& 5,532
Al 5,532
SHRIIES &SHl S XI& 6,852,728 6,237,026 615,702
) 5,481,994
< 685,367
Al 685,367
301 EtE NS 6,852,728 6,237,026 615,702
Jl 5,481,994
== 685,367
Al 685,367
01 AR 2EHSHS(RNEXRTHE) 6,852,728 6,237,026 615,702
OBFRIENE =4l S X2 6,852,728
Jl 5,481,994
=S 685,367
Al 685,367
e ngs X 14,150 14,150 0
301 2eEN=S 14,150 14,150
11 dALEEIXIRE S 14,150 14,150
O0d Mgs=Eigus 14,150
otsE=s X2 30,074,652 29,206,047 868,605
= 14,298,110
= 55,500
) 253,125
= 7,615,253
Al 7,852,664




2A:

S8 HdotED

M o4 - ots=EX B
el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SFuAE el2dl X 12,669,041 13,348,600 679,559
= 8,451,781
== 2,817,260
Al 1,400,000
301 2eEN= 12,669,041 13,348,600 679,559
= 8,451,781
=S 2,817,260
Al 1,400,000
01 Al EEHS(FRDEXMH) 12,669,041 13,348,600 679,559
OE=uXa It K& 12,669,041
= 8,451,781
= 2,817,260
Al 1,400,000
SRKDAY HRML K (DAI2SEZHLH]) 3,535,741 3,409,692 126,049
= 2,121,445
= 707,148
Al 707,148
301 EtE2 NS 3,535,741 3,409,692 126,049
= 2,121,445
= 707,148
Al 707,148
01 Al EE A ZS(2REXMR) 3,535,741 3,409,692 126,049
EESDHA YLHH XS (RAR2E2N
&Hl) 3,535,741
= 2,121,445
= 707,148
Al 707,148
SN MM XNF(EZHZDAL XIH) 5,606,465 5,356,532 249,933
= 3,363,879
= 1,121,293
Al 1,121,293
301 LEtE NS 5,606,465 5,356,532 249,933
= 3,363,879
[ 1,121,293
Al 1,121,293
01 A2 HSHS(RNEERTHE) 5,606,465 5,356,532 249,933
O MM X (ERHT WAL
&) 5,606,465
= 3,363,879
< 1,121,293
Al 1,121,293
SN MRMHA KNS (LAIEE BF X&) 90,959 123,926 A32,967
= 54,575




2A:

X XH -
o=

S8 HdotED
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 18,192
Al 18,192
301 EtE NS 90,959 123,926 A32,967
= 54,575
== 18,192
Al 18,192
01 AR 2EHSHS(RNEXRTH) 90,959 123,926 A32,967
SSUAY MM NS (RAIEE JE
XI2Hl) 90,959
= 54,575
== 18,192
Al 18,192
SRKNAY HRMHE N (SELSWA SE2RE 157,862 133,000 24,862
= 94,718
== 31,572
Al 31,572
301 22N = 157,862 133,000 24,862
= 94,718
= 31,572
Al 31,572
01 Al EE A S (FRNEXA) 157,862 133,000 24,862
OESNAE MRME X (SELZFWA
sSg22+4) 157,862
= 94,718
= 31,572
Al 31,572
OElold X (LxHm-Hl) 159,159 129, 3% 29,803
= 95,49%
= 31,832
Al 31,832
307 gl2tol & 169,159 129,35 29,803
= 95,495
= 31,832
Al 31,832
11 AMEISXAEEXS 159,159 129,35 29,803
OO0y X (mMw=Hl) 159,159
= 95,495
< 31,832
Al 31,832
Ofglold X (xte2gl) 66,885 74,529 AT,644
= 40,131
< 13,377
Al 13,377




2A:

X XH -
o=

S8 HdotED
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 66,885 74,529 AT ,644
= 40,131
== 13,377
Al 13,377
11 AMEISXAEEES 66,885 74,529 AT ,644
OO0igl0ld XI&(Xret23hl) 66,885
= 40,131
=S 13,377
Al 13,377
U0l X (sHEG0RI0IE X&) 10,185 10,417 A232
= 6,111
=S 2,037
Al 2,037
307 21201 & 10,185 10,417 N2
= 6.111
= 2,037
Al 2,037
1 AMISXAEEXS 10,185 10,417 N232
OO0RI0IE X (SHEHANI0IE) 10,185
= 6.1
= 2,037
Al 2,037
012018 nELLXE 18,625 18,580 45
= 11,175
= 3,725
Al 3.725
301 EtE N = 18,625 18,580 45
= 11,175
< 3,725
Al 3,725
01 A2 HSFS(RNEERTHE) 18,625 18,580 45
O0g0ld nALEXH 18,625
= 11,175
== 3.725
Al 3,725
SBEN0IE KJ(HESAY) 741,600 576,000 165,600
= 593,280
Al 148,320
307 el2tol & 741,600 576,000 165,600
= 593,280
Al 148,320
1 AMISXAEEXS 741,600 576,000 165,600
Os380e0d A& 741,600




2A:
X XH -
o e

=aak

S8 HdotED
od - Ots=A &8
orsE= X&

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 593,280
Al 148,320

olglolE JIse 111,000 62,000 49,000
= 55,500
== 27,750
Al 27,750

402 QI2F X201 & 111,000 62,000 49,000
= 55,500
== 27,750
Al 27,750

02 QI EASEX(0IETHR) 111,000 62,000 49,000
O0eold JIs2Ed 111,000
= 55,500
=S 27,750
Al 27,750

SR A XRIHLHI 1,889,216 2,013,386 A124,170
< 566,765
Al 1,322,451

301 EtE NS 1,889,216 2,013,386 A124,170
= 566,765
Al 1,322,451

02 ALRI2EH G (FHAAHS, NSWE) 1,889,216 0 1,889,216
OEF WAL X<IHAH| 1,889,216
= 566,765
Al 1,322,451

FHXS ooy =34l 11,256 11,256 0
== 3,377
Al 7,879

307 212+01& 11,256 11,256 0
< 3,377
Al 7,879

11 AMEISXAEEES 11,256 11,256 0
OF XS 0el0ld 2] 11,256
= 3,377
Al 7,879

SESAE 4 - gl XA 215,040 239,162 NP4 122
=S 43,008
Al 172,032

307 21201 & 215,040 239,162 N24,122
< 43,008
Al 172,032

11 AMEISXAEEES 215,040 239,162 NP4 122
SESAE 4 - 43y AR 215,040




2A:

S8 HdotED

M. o4 - Ots=EX sX
&t orEE=s X (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

= 43,008
Al 172,032

ZOHOt ME2HE 0l 2& A 21Ad| K& 24,132 24,132 0
& 7,239
Al 16,893

301 LB F 24,132 24,132 0
T 7,239
Al 16,893

02 ASIBEEHS(FHLHS, NYME) 24,132 0 24,132
OXFOOF MU0l 28 olHdl X3 24,132
= 7,239
Al 16,893

2EAHIE 2 OHEL/EOtS K& 101,400 155,160 AB3,760
& 30,420
Al 70,980

301 LPBNEZ 101,400 155,160 AB3,760
& 30,420
Al 70,980

02 AISIBEESHS(FHLHS, NYME) 101,400 0 101,400
O2EAHIE L JHERIE Ol K& 101,400
T 30,420
Al 70,980

A2EAHIIE 2 JIELIEOS 2RI =03 326,094 326,094 0
= 32,609
Al 293,485

301 LPENZ 326,094 326,094 0
& 32,609
Al 293,485

02 NBIEZASHS(HUAS, XLTHA) 326,094 0 326,094
OJIE %I 25H| 326,094
& 32,609
Al 293,485

HdZO0l=sE 3| 84,000 60,000 24,000
= 58,800
& 8,400
Al 16,800

301 LB F 84,000 60,000 24,000
= 58,800
& 8,400
Al 16,800

01 AISIBEH 2GS (2 RETME) 84,000 60,000 24,000
OFZ0t=sE23H| 84,000
= 58,800




2A:

S8 HdotED

M o4 - ots=EX B
el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8,400
Al 16,800
NaSE MH S =stdggs N 10,000 10,000 0
201 er2 3| 5,000 0 5,000
03 A= SHI 5,000 0 5,000
OMASE M4 S SEggs N 5,000
301 EetE NS 5,000 10,000 /5,000
11 #AIAHIXIE S 5,000 10,000 25,000
OXMASE M4 S =23tnggs N 5,000
(U ==r= PN 1,705,050 1,649,200 55,850
Jl 253,125
=S 692,550
Al 759,375
301 EtE NS 1,705,050 1,649,200 55,850
Jl 253,125
= 692,550
Al 759,375
01 Al EE A S (2 RDEXMA) 1,705,050 1,649,200 55,850
ogsE OtssAAE 1,012,500
Il 253,125
Al 759,375
oshls otssA X 692,550
& 692,550
0lglolE 2501 X 479,247 479,247 0
< 112,100
Al 367,147
301 2eEN= 479,247 479,247 0
S 112,100
Al 367,147
02 MBI 2HEHSFHS(HAANS, XLHE) 479,247 0 479,247
ongold 2500 XA 479,247
= 112,100
Al 367,147
SEFuA 28 B2 7,000 7,000 0
307 @120l & 7,000 7,000
02 QB AANEE R 7,000 7,000
OE=uA 28 #X 7,000
SSEOE01E W=sSFMNel X 10,500 9,000 1,500
< 3,150
Al 7,350
402 QI2F X201 & 10,500 9,000 1,500
= 3,180




2A:

X XH -
o=

S8 HdotED
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,350
02 QI XHE AL E R (01X THE) 10,500 9,000 1,500
O3=€0g01d nsSBEMAHl X 10,500
s 3,180
Al 7,350
02lold S2tAaldl X1 1,157,028 569,258 587,770
& 482,019
Al 675,009
307 glztol & 1,157,028 569,258 887,770
= 482,019
Al 675,009
1 AMEISXAIEEXS 1,157,028 569,258 587,770
O0el0ld S2Adl X3 1,157,028
S 482,019
Al 675,009
O12l01E oAl =&HI XI& 321,420 410,520 89,100
[ 96,426
Al 224,994
301 2EN= 321,420 410,520 /89,100
= 96,426
Al 224,994
02 A2 XSG (FHAAHS, W) 321,420 0 321,420
OO0l E OMIEH 2gH| X2 321,420
= 96,426
Al 224,994
SRANEAE wXE IAd| =0t X2 490,147 0 490,147
== 147,044
Al 343,103
301 2= 490,147 0 490,147
[ 147,044
Al 343,103
02 MBI 2EHSFHS(HAANS, XLHE) 490,147 0 490, 147
OFFANHAIE WA 1A =It K& 490,147
= 147,044
Al 343,103
QIZH- Jtd O>l0old Fotet 2| X (S HEl 75,600 0 75,600
2 0IXIY)
s 22,680
Al 52,920
307 @I2t01 & 75,600 0 75,600
[ 22,680
Al 52,920
10 Al2ISTIAIEEE 22X 75,600 0 75,600




2A:

S8 HdotED

M. o4 - Ots=EX sX
el ofsEs A3 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
©RIZH- JIEU2I0l& Yot 24| XI2(F
£ olMIEIE OIKIE) 75,600
& 22,680
Al 52,920
LoIEX & 2,181,278 2,204,343 A23,065
= 403,650
T 365,368
Al 1,412,260
SMHEOHE XI& 2,181,278 2,204,343 A23,065
= 403,650
& 365,368
Al 1,412,260
Lol & 23tEs KR 10,000 0 10,000
301 LB F 10,000 10,000
11 HALAHIXI A2 3,600 3,600
OAHAIE JIQual 2H3| 3,600
14 J|Et2 43 6,400 0 6,400
OAHAIE Jiua 29 6,400
LOINIINAE BRI 22,000 22,000 0
307 212+01 ™ 7,000 7,000
10 Al =S XA EEE2IHIE X 7,000 7,000
OZ=2Y sMEE= 3,000
OZ2Y JIACHEEA 4,000
401 A& HIZLS0HY| 15,000 15,000
01 Al&HI 15,000 15,000
OHOIEE7E L LOWIMIANE SN2 15,000
Lol BB XA 3,600 4,000 2400
& 1,080
Al 2,520
301 LPENS 3,600 4,000 2400
& 1,080
Al 2,520
02 NBIEZASGS(HAUAS, RLTHA) 3,600 0 3,600
OLol BHEXRD| K& 3,600
T 1,080
Al 2,520
d2Y 2IGIA 1,169,550 1,135,150 34,400
= 129,792
Al 1,039,758
307 212+01 A 1,169,550 1,135,150 34,400
& 129,792
Al 1,039,758
11 AR SXAMEES 1,169,550 1,135,150 34,400




A HE HEotED
Hm: Lol=x =X
ol :deory X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=gH| 581,360
= 48,672
Al 532,688
Ozt 95,330
=S 15,548
Al 79,782
Odittt| 327,860
= 65,572
Al 262,288
O=FAH| 165,000
DIS=E d=¢ 2gA& 18,828 21,966 A3,138
=S 3,766
Al 15,062
307 21201 & 18,828 21,966 A3,138
== 3,766
Al 15,062
11 AMEISXAEEES 18,828 21,966 A3,138
O=2gH| 6,480
& 1,29
Al 5,184
©2tAMH| 3,600
= 720
Al 2,880
OdHs| 8,748
< 1,780
Al 6,998
2 g & ef=dl X2 807,300 731,548 75,752
= 403,650
== 80,730
Al 322,920
307 212+01& 807,300 731,548 75,752
= 403,650
=S 80,730
Al 322,920
10 Al SXAI2EE 22X 807,300 731,548 75,752
O3dzg dgtl X 111,540
= 85,770
= 11,154
Al 44,616
0Zd=2g s&J| vl K& 625,300
= 312,650
= 62,530
Al 250,120
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